Accordéoriree Charabie (version essai 20/10/23)

cover by FTM#”

1 tpt

1 acec.

1 sax

10

100

J

I
[basses|

—1
]
> >

I I
I

J=8100 Gm

~

<

32

Gm

Gm

Cm

50

|
|
=
=4

|

D)

J
s BlG

Gm

Gm

Gm

120 puis accel
F

m

0

accelerando

Gm
!

78
0
Sy

Gm

Gm

Gm

Gm

Gm

Gm

|1-Gm

94

/ ‘I[ ‘I / ‘I( ‘I / ‘I( ‘I / ‘I[ ‘I / ‘I( ‘I / ‘I( ‘I

Gm

Gm

Gm

Gm

Gm

Gm

Gm

101

0
7 A )

‘I( dl

/

/ ‘Iz ‘I




2.

J=180
Am

Am

Am

Dm

Gm

Gm

108

. | oMl
.

N
A

IALY]

]

N
7Y

IR

]

4= 60Dm

Am

Dm

119

D)




